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No static guarantees
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Finite-state property
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	 	 insertEdge("Node.accept(Visitor)");
	 }
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May disable instrumentation
at a statement s

if and only if

dynamic-analysis configuration
will eventually be the same
on all possible continuations.
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Lessons learned

Lesson 1:

Correct static approximations 
usually require both backward and 
forward analysis
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Lessons learned

Lesson 2:

Forward analysis needs to 
approximate all possible histories

Backward analysis needs to 
approximate all possible 
continuations
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Lessons learned

Lesson 3:

Optimizations may void previous 
static-analysis results

=> Re-iteration may be required
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Idea: Generic Framework
Static-analysis Framework

Automated propagation along all possible 
continuations

Reusable static approximations of runtime 
entities (Objects, events, etc.) 

Support for different notions of 
equivalence

Pre-defined code transformations for 
optimizing instrumentation
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Idea: Generic Framework

Formal Proof Framework

Generic framework defining possible 
control flows and continuations

Generic static approximations of runtime 
entities (Objects, events, etc.)

Simply “plug in” your analysis’ special 
notion of continuation-equivalence
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Grant application:
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